3 (Sem-6) PHL M 4

2020

PHILOSOPHY
( Major )

Paper : 6.4
( Ethics—II )
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :
1x7=7
P oo epgcaiea Teq fram

(a) How can a. right action be defined,
according to deontological theory?

TEETE TOAM SEpie (FIe qF 321 T4

@] (@ecd fma o[ 2
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(2)

(bp) Which of the following statements is
correct?

oS il Sfeee fooae (@R w5 ?

(i) Kant’s moral theory is consistent
with teleological theory.
I (ST T S (Afed
T FS RS |

(ii) Kant’s moral theory is inconsistent
with deontological theories.

Slich SR CE R OT 1 TEES (e
TR FA9NS TR |

(iii) Kant’s moral theory is consistent
with utilitarianism.

I CeS Teqm SoraPermg wers
LQICLRE

(iv) Kant’s moral theory is inconsistent
with hedonism.

I ST oqw AEAvE e
2sifjef |
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(3)

{c) For Kant, man 1S always a
means/end/non-entity in moral status.

109 WA e e S W W @Ol
TRy [ T ) Sl |

( Choose the correct alternative )

( g femch! Al Sferea )

(d) Find out the mismatching pair :
fitet e qrEce A1 Sfered

(i) Gita’s Niskama Karma :
Consequentialism

Sror e ol Toga-AFag Tedm

(ii) My station and its duties : Bradley
IR TR SF $6 : (@O

(iii) Rita (Rta) : Adrista
¥ ;e

(iv) Arabdha or Prarabdha Karma :
Praktana or Sancita Karma

4 41 AE B 2ArE J1 Ale I
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(4)

(e) What is the etymological meaning of the
term ‘deontology’?

‘Deontology’ *M(BIA ?ﬂﬁ"fﬁi‘v‘(@ 5 52

(f) Is Moore a naturalist philosopher?

T Qom@F! arphodit wffae 220 ?

(g) Which theory of punishment can be
called a ‘Rehabilitationist theory’?

G (P TSRS [P Toam e
9 #l1 2

2. Answer the following questions in brief :  2x4=8
woTe fidl e oY Teq foa
(a) What is the difference between

act-deontological theory and
rule-deontological theory?

TS AW WF - EagETe

TS Tere =12 59

(b) What is naturalistic fallacy?
Ao aify 91 oMy e 52
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(c)

(d)

(S5)

Briefly explain conditional imperative
with the help of a suitable example.
Ty TreR B TRES DORM AT
TREc oY R 40

What is the difference between Pravritti
Marga and Nivritti Marga?

o3 Wisf = fAgfe efq rers K< (2

3. Give answers on any three of the following :

O\

(a)

(b)

(c)

20A/771

5%3=15
francares fowws & e fofbr Teq fers
Write the maxims of categorical

imperative.
BT SCTR T 9 11 AR o |

What do you mean by the concept of
Sthitaprajna in the Gita?

o ez q@e e [ 7o ?

What is ‘pseudoconcept’ in Ayer’s
emotivism?

WA TEe-REne Tedme wagEel W
&2
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(6)

(d) Is the law of Karma fatalistic? Briefly
discuss.

A SAGEAM = (717 BYF SO [ |

(e) Give arguments against capital
punishment.

RIIIGE] RereT gie SsREE |

4. Explain Kant’s moral philosophy as reflected

in the statement—"‘Duty for duty’s sake.” 10
“PETE A TEG AL —SREDre A Al
B CafeP TR I 340

Or / 7gdTl
Is Niskama Karma possible? Explain. 10

oz < 918 @1 2 I 1

5. Is good definable? Explain after G. E. Moore. 10
C FREEE 2 (712 6.2, 39 TP qna g |
S/ o1

Explain and examine A. J. Ayer’s emotivism. 10

Q. (T SRS S-S Teamdn ey e
a5 =1 1
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(7))

6. Critically discuss the preventive theory of

punishment. 10

e afecaqee  ToamoR R RoRYere
ST <1 |

Or / 79T

Distinguish between Sakama Karma and

Niskama Karma. 10

SN T SIF RN 41 e e Fefy 4

* &k
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